This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase	Units In Stock	
Product1	This is an example description showing long text in some of the items. Here is some UTF text €	\$85.73	846	1/25/2026	474	No
Product2	This is an example description showing long text in some of the items. Here is some UTF text €	\$94.77	394	9/29/2027	690	No
Product3	This is an example description showing long text in some of the items. Here is some UTF text €	\$1.73	766	7/27/2025	734	No
Product4	This is an example description showing long text in some of the items. Here is some UTF text €	\$85.35	286	4/19/2027	80	Yes
Product5	This is an example description showing long text in some of the items. Here is some UTF text €	\$76.31	354	11/24/2027	529	No
Product6	This is an example description showing long text in some of the items. Here is some UTF text €	\$29.56	196	11/14/2027	87	Yes
Product7	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.43	982	11/22/2027	217	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase	Units In Stock	
Product8	This is an example description showing long text in some of the items. Here is some UTF text €	\$39.89	749	10/6/2027	914	No
Product9	This is an example description showing long text in some of the items. Here is some UTF text €	\$84.00	587	1/6/2027	812	No
Product10	This is an example description showing long text in some of the items. Here is some UTF text €	\$68.30	575	11/19/2026	587	No
Product11	This is an example description showing long text in some of the items. Here is some UTF text €	\$13.79	744	4/17/2026	648	No
Product12	This is an example description showing long text in some of the items. Here is some UTF text €	\$97.49	42	10/1/2026	513	No
Product13	This is an example description showing long text in some of the items. Here is some UTF text €	\$70.17	174	4/14/2026	246	Yes
Product14	This is an example description showing long text in some of the items. Here is some UTF text €	\$41.84	191	10/14/2025	660	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM

Total Products: 200
Total Orders: 100765
Total Sales: \$20,153,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product15	This is an example description showing long text in some of the items. Here is some UTF text €	\$98.30	117	10/27/2026	965	No
Product16	This is an example description showing long text in some of the items. Here is some UTF text €	\$52.31	599	4/21/2026	267	Yes
Product17	This is an example description showing long text in some of the items. Here is some UTF text €	\$94.21	109	12/15/2027	265	Yes
Product18	This is an example description showing long text in some of the items. Here is some UTF text €	\$73.49	842	8/5/2026	187	Yes
Product19	This is an example description showing long text in some of the items. Here is some UTF text €	\$85.09	286	7/30/2026	551	No
Product20	This is an example description showing long text in some of the items. Here is some UTF text €	\$90.95	214	10/24/2025	951	No
Product21	This is an example description showing long text in some of the items. Here is some UTF text €	\$52.82	358	12/1/2026	224	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product22	This is an example description showing long text in some of the items. Here is some UTF text €	\$46.53	577	11/11/2026	648	No
Product23	This is an example description showing long text in some of the items. Here is some UTF text €	\$48.50	891	10/11/2027	565	No
Product24	This is an example description showing long text in some of the items. Here is some UTF text €	\$9.51	538	9/5/2025	537	No
Product25	This is an example description showing long text in some of the items. Here is some UTF text €	\$45.22	19	6/10/2027	865	No
Product26	This is an example description showing long text in some of the items. Here is some UTF text €	\$14.79	188	8/21/2027	859	No
Product27	This is an example description showing long text in some of the items. Here is some UTF text €	\$77.71	96	8/3/2026	131	Yes
Product28	This is an example description showing long text in some of the items. Here is some UTF text €	\$80.07	551	7/24/2027	768	No

This is a sample report showing how Doddle Report works

Low Stock

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product29	This is an example description showing long text in some of the items. Here is some UTF text €	\$0.51	528	9/14/2026	164	Yes
Product30	This is an example description showing long text in some of the items. Here is some UTF text €	\$8.42	67	9/14/2027	364	No
Product31	This is an example description showing long text in some of the items. Here is some UTF text €	\$61.35	246	8/23/2027	843	No
Product32	This is an example description showing long text in some of the items. Here is some UTF text €	\$1.25	831	10/4/2025	312	No
Product33	This is an example description showing long text in some of the items. Here is some UTF text €	\$22.30	853	10/11/2025	889	No
Product34	This is an example description showing long text in some of the items. Here is some UTF text €	\$50.80	246	9/15/2027	339	No
Product35	This is an example description showing long text in some of the items. Here is some UTF text €	\$58.02	656	9/24/2026	368	No

This is a sample report showing how Doddle Report works

Low Stock

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product36	This is an example description showing long text in some of the items. Here is some UTF text €	\$18.21	364	10/29/2027	933	No
Product37	This is an example description showing long text in some of the items. Here is some UTF text €	\$14.04	61	1/15/2027	566	No
Product38	This is an example description showing long text in some of the items. Here is some UTF text €	\$10.13	899	9/30/2026	385	No
Product39	This is an example description showing long text in some of the items. Here is some UTF text €	\$21.79	342	3/13/2026	901	No
Product40	This is an example description showing long text in some of the items. Here is some UTF text €	\$40.81	934	10/29/2027	945	No
Product41	This is an example description showing long text in some of the items. Here is some UTF text €	\$0.42	83	12/29/2027	947	No
Product42	This is an example description showing long text in some of the items. Here is some UTF text €	\$45.21	861	3/21/2026	758	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		I bits In Stock
Product43	This is an example description showing long text in some of the items. Here is some UTF text €	\$72.48	97	2/8/2027	428	No
Product44	This is an example description showing long text in some of the items. Here is some UTF text €	\$61.95	433	1/2/2026	249	Yes
Product45	This is an example description showing long text in some of the items. Here is some UTF text €	\$39.90	846	6/7/2027	951	No
Product46	This is an example description showing long text in some of the items. Here is some UTF text €	\$27.18	526	1/31/2026	323	No
Product47	This is an example description showing long text in some of the items. Here is some UTF text €	\$39.94	714	5/6/2027	165	Yes
Product48	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.47	902	1/21/2028	645	No
Product49	This is an example description showing long text in some of the items. Here is some UTF text €	\$80.90	502	7/3/2026	98	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product50	This is an example description showing long text in some of the items. Here is some UTF text €	\$45.58	899	10/28/2026	278	Yes
Product51	This is an example description showing long text in some of the items. Here is some UTF text €	\$80.06	801	10/23/2027	3	Yes
Product52	This is an example description showing long text in some of the items. Here is some UTF text €	\$31.52	25	8/8/2027	784	No
Product53	This is an example description showing long text in some of the items. Here is some UTF text €	\$16.00	2	11/18/2026	561	No
Product54	This is an example description showing long text in some of the items. Here is some UTF text €	\$23.16	895	5/8/2027	477	No
Product55	This is an example description showing long text in some of the items. Here is some UTF text €	\$87.23	584	1/3/2027	737	No
Product56	This is an example description showing long text in some of the items. Here is some UTF text €	\$18.99	94	8/6/2027	822	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

Name	Description	<u>Price</u>	Order Count		Last Purchase	Units In Stock
Product57	This is an example description showing long text in some of the items. Here is some UTF text €	\$16.60	938	3/15/2027	117	Yes
Product58	This is an example description showing long text in some of the items. Here is some UTF text €	\$6.94	83	9/5/2027	499	No
Product59	This is an example description showing long text in some of the items. Here is some UTF text €	\$36.54	424	12/1/2025	469	No
Product60	This is an example description showing long text in some of the items. Here is some UTF text €	\$68.45	207	7/12/2025	373	No
Product61	This is an example description showing long text in some of the items. Here is some UTF text €	\$94.87	887	7/9/2025	991	No
Product62	This is an example description showing long text in some of the items. Here is some UTF text €	\$39.98	370	8/21/2026	913	No
Product63	This is an example description showing long text in some of the items. Here is some UTF text €	\$82.92	886	2/15/2026	870	No

This is a sample report showing how Doddle Report works

Low Stock

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase	Units In Stock	
Product64	This is an example description showing long text in some of the items. Here is some UTF text €	\$35.18	743	9/30/2025	705	No
Product65	This is an example description showing long text in some of the items. Here is some UTF text €	\$3.84	19	10/19/2027	376	No
Product66	This is an example description showing long text in some of the items. Here is some UTF text €	\$40.67	648	6/18/2027	76	Yes
Product67	This is an example description showing long text in some of the items. Here is some UTF text €	\$20.95	3	1/15/2026	807	No
Product68	This is an example description showing long text in some of the items. Here is some UTF text €	\$74.50	203	9/5/2027	664	No
Product69	This is an example description showing long text in some of the items. Here is some UTF text €	\$57.66	174	9/1/2027	302	No
Product70	This is an example description showing long text in some of the items. Here is some UTF text €	\$8.91	771	8/30/2026	795	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product71	This is an example description showing long text in some of the items. Here is some UTF text €	\$52.51	705	4/17/2026	183	Yes
Product72	This is an example description showing long text in some of the items. Here is some UTF text €	\$85.72	922	11/28/2025	621	No
Product73	This is an example description showing long text in some of the items. Here is some UTF text €	\$33.53	445	9/8/2026	665	No
Product74	This is an example description showing long text in some of the items. Here is some UTF text €	\$36.96	631	2/26/2028	300	No
Product75	This is an example description showing long text in some of the items. Here is some UTF text €	\$17.27	929	8/25/2027	396	No
Product76	This is an example description showing long text in some of the items. Here is some UTF text €	\$17.46	606	12/19/2025	625	No
Product77	This is an example description showing long text in some of the items. Here is some UTF text €	\$9.28	561	4/24/2026	177	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

Name	Description	<u>Price</u>	Order Count	Lasti diciase		Units In Stock
Product78	This is an example description showing long text in some of the items. Here is some UTF text €	\$95.45	786	3/12/2027	266	Yes
Product79	This is an example description showing long text in some of the items. Here is some UTF text €	\$59.67	42	11/2/2027	700	No
Product80	This is an example description showing long text in some of the items. Here is some UTF text €	\$36.07	531	2/8/2026	287	Yes
Product81	This is an example description showing long text in some of the items. Here is some UTF text €	\$85.62	574	10/18/2026	299	Yes
Product82	This is an example description showing long text in some of the items. Here is some UTF text €	\$77.19	128	4/25/2026	944	No
Product83	This is an example description showing long text in some of the items. Here is some UTF text €	\$20.73	489	11/10/2025	159	Yes
Product84	This is an example description showing long text in some of the items. Here is some UTF text €	\$98.96	26	3/17/2027	918	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product85	This is an example description showing long text in some of the items. Here is some UTF text €	\$53.76	661	10/2/2025	295	Yes
Product86	This is an example description showing long text in some of the items. Here is some UTF text €	\$62.82	969	5/2/2027	548	No
Product87	This is an example description showing long text in some of the items. Here is some UTF text €	\$82.83	164	9/10/2025	327	No
Product88	This is an example description showing long text in some of the items. Here is some UTF text €	\$78.05	266	1/29/2028	641	No
Product89	This is an example description showing long text in some of the items. Here is some UTF text €	\$70.99	495	12/26/2026	600	No
Product90	This is an example description showing long text in some of the items. Here is some UTF text €	\$13.45	868	11/4/2027	964	No
Product91	This is an example description showing long text in some of the items. Here is some UTF text €	\$26.62	349	2/29/2028	465	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product92	This is an example description showing long text in some of the items. Here is some UTF text €	\$65.68	456	4/7/2026	570	No
Product93	This is an example description showing long text in some of the items. Here is some UTF text €	\$42.12	932	12/14/2025	698	No
Product94	This is an example description showing long text in some of the items. Here is some UTF text €	\$44.11	923	4/23/2027	886	No
Product95	This is an example description showing long text in some of the items. Here is some UTF text €	\$90.69	923	10/18/2026	607	No
Product96	This is an example description showing long text in some of the items. Here is some UTF text €	\$5.98	967	12/15/2025	941	No
Product97	This is an example description showing long text in some of the items. Here is some UTF text €	\$54.96	488	9/26/2026	494	No
Product98	This is an example description showing long text in some of the items. Here is some UTF text €	\$48.61	20	8/27/2027	669	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product99	This is an example description showing long text in some of the items. Here is some UTF text €	\$80.81	125	8/2/2025	278	Yes
Product100	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.96	201	12/13/2027	371	No
Product101	This is an example description showing long text in some of the items. Here is some UTF text €	\$88.78	498	12/27/2027	847	No
Product102	This is an example description showing long text in some of the items. Here is some UTF text €	\$10.30	240	1/20/2026	786	No
Product103	This is an example description showing long text in some of the items. Here is some UTF text €	\$83.64	653	5/28/2027	211	Yes
Product104	This is an example description showing long text in some of the items. Here is some UTF text €	\$39.66	246	12/25/2027	298	Yes
Product105	This is an example description showing long text in some of the items. Here is some UTF text €	\$18.54	29	1/5/2028	168	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last ruigilase	- - -	Units In Stock
Product106	This is an example description showing long text in some of the items. Here is some UTF text €	\$0.69	782	9/26/2025	400	No
Product107	This is an example description showing long text in some of the items. Here is some UTF text €	\$14.86	493	12/11/2027	315	No
Product108	This is an example description showing long text in some of the items. Here is some UTF text €	\$89.41	380	12/7/2027	705	No
Product109	This is an example description showing long text in some of the items. Here is some UTF text €	\$3.11	100	6/23/2027	561	No
Product110	This is an example description showing long text in some of the items. Here is some UTF text €	\$6.17	316	10/20/2027	308	No
Product111	This is an example description showing long text in some of the items. Here is some UTF text €	\$28.86	663	4/23/2027	832	No
Product112	This is an example description showing long text in some of the items. Here is some UTF text €	\$32.69	572	4/2/2026	561	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product113	This is an example description showing long text in some of the items. Here is some UTF text €	\$22.13	731	10/5/2025	970	No
Product114	This is an example description showing long text in some of the items. Here is some UTF text €	\$28.60	723	7/3/2026	105	Yes
Product115	This is an example description showing long text in some of the items. Here is some UTF text €	\$41.37	505	6/3/2027	609	No
Product116	This is an example description showing long text in some of the items. Here is some UTF text €	\$35.01	884	12/13/2027	456	No
Product117	This is an example description showing long text in some of the items. Here is some UTF text €	\$76.67	988	12/31/2025	296	Yes
Product118	This is an example description showing long text in some of the items. Here is some UTF text €	\$52.76	343	2/25/2026	869	No
Product119	This is an example description showing long text in some of the items. Here is some UTF text €	\$19.11	606	11/30/2027	343	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product120	This is an example description showing long text in some of the items. Here is some UTF text €	\$12.47	251	9/15/2025	575	No
Product121	This is an example description showing long text in some of the items. Here is some UTF text €	\$22.13	329	10/5/2025	162	Yes
Product122	This is an example description showing long text in some of the items. Here is some UTF text €	\$28.71	916	8/27/2026	307	No
Product123	This is an example description showing long text in some of the items. Here is some UTF text €	\$73.59	614	11/28/2025	556	No
Product124	This is an example description showing long text in some of the items. Here is some UTF text €	\$61.72	228	2/17/2028	403	No
Product125	This is an example description showing long text in some of the items. Here is some UTF text €	\$77.17	201	9/7/2025	338	No
Product126	This is an example description showing long text in some of the items. Here is some UTF text €	\$39.25	976	8/6/2025	878	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase	Cinio	
Product127	This is an example description showing long text in some of the items. Here is some UTF text €	\$49.47	224	8/22/2027	678	No
Product128	This is an example description showing long text in some of the items. Here is some UTF text €	\$84.45	21	3/10/2028	161	Yes
Product129	This is an example description showing long text in some of the items. Here is some UTF text €	\$43.18	123	7/26/2026	20	Yes
Product130	This is an example description showing long text in some of the items. Here is some UTF text €	\$79.10	729	12/20/2025	850	No
Product131	This is an example description showing long text in some of the items. Here is some UTF text €	\$56.95	873	1/15/2027	913	No
Product132	This is an example description showing long text in some of the items. Here is some UTF text €	\$19.50	680	3/12/2026	962	No
Product133	This is an example description showing long text in some of the items. Here is some UTF text €	\$64.83	475	1/26/2027	922	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase	CIEGO	
Product134	This is an example description showing long text in some of the items. Here is some UTF text €	\$18.62	735	1/3/2026	244	Yes
Product135	This is an example description showing long text in some of the items. Here is some UTF text €	\$29.59	215	5/3/2027	62	Yes
Product136	This is an example description showing long text in some of the items. Here is some UTF text €	\$13.72	740	10/9/2026	714	No
Product137	This is an example description showing long text in some of the items. Here is some UTF text €	\$63.39	986	11/5/2025	493	No
Product138	This is an example description showing long text in some of the items. Here is some UTF text €	\$84.12	937	3/8/2027	42	Yes
Product139	This is an example description showing long text in some of the items. Here is some UTF text €	\$3.28	215	8/11/2027	519	No
Product140	This is an example description showing long text in some of the items. Here is some UTF text €	\$41.60	120	5/18/2027	814	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product141	This is an example description showing long text in some of the items. Here is some UTF text €	\$97.23	817	8/3/2025	368	No
Product142	This is an example description showing long text in some of the items. Here is some UTF text €	\$44.99	57	3/5/2028	696	No
Product143	This is an example description showing long text in some of the items. Here is some UTF text €	\$94.01	142	6/28/2027	575	No
Product144	This is an example description showing long text in some of the items. Here is some UTF text €	\$6.10	106	6/17/2027	829	No
Product145	This is an example description showing long text in some of the items. Here is some UTF text €	\$41.04	845	4/9/2026	208	Yes
Product146	This is an example description showing long text in some of the items. Here is some UTF text €	\$55.61	758	11/1/2025	710	No
Product147	This is an example description showing long text in some of the items. Here is some UTF text €	\$86.29	528	12/11/2027	970	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product148	This is an example description showing long text in some of the items. Here is some UTF text €	\$96.67	663	10/10/2027	175	Yes
Product149	This is an example description showing long text in some of the items. Here is some UTF text €	\$53.24	853	10/2/2025	319	No
Product150	This is an example description showing long text in some of the items. Here is some UTF text €	\$70.94	93	3/25/2026	576	No
Product151	This is an example description showing long text in some of the items. Here is some UTF text €	\$1.06	428	1/8/2027	698	No
Product152	This is an example description showing long text in some of the items. Here is some UTF text €	\$21.32	37	3/11/2028	926	No
Product153	This is an example description showing long text in some of the items. Here is some UTF text €	\$50.23	939	10/21/2025	570	No
Product154	This is an example description showing long text in some of the items. Here is some UTF text €	\$84.06	474	3/19/2026	214	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase	Units In Stock	
Product155	This is an example description showing long text in some of the items. Here is some UTF text €	\$69.63	320	11/21/2026	920	No
Product156	This is an example description showing long text in some of the items. Here is some UTF text €	\$16.75	4	7/3/2027	276	Yes
Product157	This is an example description showing long text in some of the items. Here is some UTF text €	\$31.41	549	8/15/2025	207	Yes
Product158	This is an example description showing long text in some of the items. Here is some UTF text €	\$1.56	393	11/1/2025	316	No
Product159	This is an example description showing long text in some of the items. Here is some UTF text €	\$58.12	703	1/18/2026	128	Yes
Product160	This is an example description showing long text in some of the items. Here is some UTF text €	\$20.43	422	11/13/2026	825	No
Product161	This is an example description showing long text in some of the items. Here is some UTF text €	\$54.75	963	10/15/2026	27	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product162	This is an example description showing long text in some of the items. Here is some UTF text €	\$55.47	258	6/4/2026	58	Yes
Product163	This is an example description showing long text in some of the items. Here is some UTF text €	\$59.59	876	3/19/2027	389	No
Product164	This is an example description showing long text in some of the items. Here is some UTF text €	\$58.81	343	8/16/2026	5	Yes
Product165	This is an example description showing long text in some of the items. Here is some UTF text €	\$69.86	277	7/23/2026	664	No
Product166	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.45	774	1/1/2028	109	Yes
Product167	This is an example description showing long text in some of the items. Here is some UTF text €	\$81.93	792	3/18/2028	137	Yes
Product168	This is an example description showing long text in some of the items. Here is some UTF text €	\$27.61	130	7/14/2025	273	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product169	This is an example description showing long text in some of the items. Here is some UTF text €	\$82.32	680	7/12/2026	204	Yes
Product170	This is an example description showing long text in some of the items. Here is some UTF text €	\$53.63	702	6/25/2027	55	Yes
Product171	This is an example description showing long text in some of the items. Here is some UTF text €	\$21.39	984	3/7/2027	139	Yes
Product172	This is an example description showing long text in some of the items. Here is some UTF text €	\$76.94	731	7/2/2027	237	Yes
Product173	This is an example description showing long text in some of the items. Here is some UTF text €	\$29.43	192	9/6/2026	926	No
Product174	This is an example description showing long text in some of the items. Here is some UTF text €	\$3.87	833	10/12/2027	773	No
Product175	This is an example description showing long text in some of the items. Here is some UTF text €	\$5.24	359	1/28/2026	761	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product176	This is an example description showing long text in some of the items. Here is some UTF text €	\$26.98	197	8/24/2027	465	No
Product177	This is an example description showing long text in some of the items. Here is some UTF text €	\$86.63	350	1/20/2027	907	No
Product178	This is an example description showing long text in some of the items. Here is some UTF text €	\$97.04	204	10/16/2026	996	No
Product179	This is an example description showing long text in some of the items. Here is some UTF text €	\$55.60	328	9/27/2026	9	Yes
Product180	This is an example description showing long text in some of the items. Here is some UTF text €	\$16.32	771	6/8/2026	88	Yes
Product181	This is an example description showing long text in some of the items. Here is some UTF text €	\$6.45	751	10/25/2027	83	Yes
Product182	This is an example description showing long text in some of the items. Here is some UTF text €	\$70.06	83	2/23/2026	990	No

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase		Units In Stock
Product183	This is an example description showing long text in some of the items. Here is some UTF text €	\$84.93	600	12/2/2025	177	Yes
Product184	This is an example description showing long text in some of the items. Here is some UTF text €	\$49.41	959	8/28/2027	16	Yes
Product185	This is an example description showing long text in some of the items. Here is some UTF text €	\$20.29	145	4/3/2026	419	No
Product186	This is an example description showing long text in some of the items. Here is some UTF text €	\$16.52	820	3/28/2026	89	Yes
Product187	This is an example description showing long text in some of the items. Here is some UTF text €	\$72.28	432	7/9/2026	709	No
Product188	This is an example description showing long text in some of the items. Here is some UTF text €	\$38.29	821	3/5/2027	280	Yes
Product189	This is an example description showing long text in some of the items. Here is some UTF text €	\$1.95	119	6/1/2027	518	No

This is a sample report showing how Doddle Report works

Low Stock

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

<u>Name</u>	<u>Description</u>	<u>Price</u>	Order Count	Last Purchase	OTHER IT OLOCK	
Product190	This is an example description showing long text in some of the items. Here is some UTF text €	\$35.45	698	8/8/2027	783	No
Product191	This is an example description showing long text in some of the items. Here is some UTF text €	\$11.53	575	8/31/2025	370	No
Product192	This is an example description showing long text in some of the items. Here is some UTF text €	\$5.29	292	11/18/2026	596	No
Product193	This is an example description showing long text in some of the items. Here is some UTF text €	\$54.31	433	9/18/2027	17	Yes
Product194	This is an example description showing long text in some of the items. Here is some UTF text €	\$49.85	920	1/13/2028	244	Yes
Product195	This is an example description showing long text in some of the items. Here is some UTF text €	\$48.44	753	6/29/2026	267	Yes
Product196	This is an example description showing long text in some of the items. Here is some UTF text €	\$71.24	524	3/3/2027	27	Yes

This is a sample report showing how Doddle Report works

Report Generated: 7/4/2025 1:56:35 AM Total Products: 200 Total Orders: 100765 Total Sales: \$20,153,000.00

Name	Description	<u>Price</u>	Order Count	Last Purchase		Units In Stock	Low Stock
Product197	This is an example description showing long text in some of the items. Here is some UTF text €	\$99.04	871	12/8/2025	374	No	
Product198	This is an example description showing long text in some of the items. Here is some UTF text €	\$26.20	267	4/26/2027	504	No	
Product199	This is an example description showing long text in some of the items. Here is some UTF text €	\$38.01	490	5/3/2026	589	No	
Product200	This is an example description showing long text in some of the items. Here is some UTF text €	\$76.18	897	8/9/2025	430	No	
		\$9,669.76					
<u> </u>							

Copyright 2011 (c) The Doddle Project